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| Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10

| 2nd Month, 2nd Week, 4th Day | Exercise 4.1 Complete |

0.5x6=3) I BB N2

P

Q.1. Choose the correct options.

3
(i) Ratio form of 5 is:

(a) 53 (b) 3:5 © 2:1 (d) 2:3
X W X
(i) Ratio form of 7 is: e FFY v
(a) X:Z (b) Z:X () yiX (d) Xy
(iii) 40:70 in fraction form is: ‘Lgﬂy 1) / 40:70
70 40 4
(a) 40 (b) 70 (© 7 (d)| bothb&ec
(iv) The simplest form of 25:45 is: e /“ul/d/ 25:45
(a) 9:5 (b) 7:5 () 5:9 (d) 5:7
(v) What is the simplest form of 25:15? e Y F il § 25:15
(a) 53 (b) 9:5 © 5:4 (d) 4:5
. . 101 . ) w101
(vi) Ratio form of 103 is: 4"_4}(’ u'J 103

@@ 103101 |®m)| 101:103 || 101:107 |@]| 103:107

W Answer the following questions: - ).,«UZL.:,U’)’J" RO%)
Q.2. Write each of the following in ratio form. . (1x2=2)
-LrEE e

X a-b

) —— (11—

Q.3. Express each ratio into the fraction form and then simplify: (1x2=2)
A et S 50

1 56:70 (i) 0.6:0.9
Q.4. Aneel's monthly salary is Rs. 55,000. He spends his monthly salary in

the ratio 2:3 as saving and expenditure respectively. Find his monthly
expenditure and saving. (1x3=3)

SUT-e b/ Ut sl e Pl 2 2:36 BuT Ios— g & 2/55,0000 724 S L
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Q.1. Choose the correct options. 05x6=3) -/ /.,«l’é""(.,alzuu
3 wlr 3
(i) Ratio form of 5 is: ‘Ly‘}ygg
(a) 5:3 (b) 3:5 (c) 2:1 (d) 2:3
X X
(ii) Ratio form of ; is: g‘;ff J ;
(a) X:Z (b) Z:X () yiX (d) Xy
(iii) 40:70 in fraction form is: 2%@&0’/40:70
70 40 4
(a) 40 (b) 70 () 7 (d){ bothb&c
(iv) The simplest form of 25:45 is: e v[}ul/d/25z45
(a) 9:5 (b) 7:5 () 5:9 d) 5:7
(v) What is the simplest form of 25:152 e Y ol § 25215
(a) 5:3 (b) 9:5 () 5:4 (d) 4:5
Lo 101 . g 101
(vi) Ratio form of 103 8 4;.&6“ 103
(a) 103:101 (b) 101:103 (c) 101:107 (d) 103:107

¥ Answer the following questions: -J ;gzai;uu«d 3ls
Q.2. Write each of the following in ratio form. . (1x2=2)
N AN

X a-b

) — @ prq

Q.3. Express each ratio into the fraction form and then simplify: (1x2=2)

-Q);‘y/ﬁ/:lw.’iufﬂw};;ufdj@u
(i 56:70 (i) 0.6:0.9
Q.4. Aneel's monthly salary is Rs. 55,000. He spends his monthly salary in

the ratio 2:3 as saving and expenditure respectively. Find his monthly
expenditure and saving. (1x3=3)
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